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What are the drawbacks of delta nroclulation'l
Explain the need tot'non-unilornr quantization in cli-gital cgmnrunicatior.
Draw the Signal space Di;rerant o1. ASK.
List tlut the Advantages ol'Pass banci Transrnission over Baseb.a,d transmission.
Del'ine Enrropy.
Derive the Expression tor tl,re Infbrntation Rate
Explain in one senrence abor-rt (i) Block Size (ii) Linear block codes.
List out Properries of Cyclic Codes.
Brietly explain about "spread spectrum."
WhatisFI.eqr,re1cyhoppingsRr:e1cISpeCtrum?

PART-B(50Marks)

2'a) with neat block diagl'arn, Explain the process of Sarnpling and euantization in digitalcorrrmunication.
h) Dc.ir e the cxP.esrirrr fir. lrrc eLrlrrtizllti.rr t'r.r.trr..

oR
-l.at Explain about tlrc rroi:e rn l)CM \) stent\.
b) Write the cornparison between PC-l\4 and Analog nrodulatiel techniques

4 a) with neat diagrams and eqLrations, exprain about pSK system.b) Draw rhe space ,'.p."r.,.,trtion of Bps'K. n,,j ,.rirn Jru* it, wavefoinrsl
OR

-5.a) The bit srream r0l l I0001 1 is ro be rransmirtecr using DPSK. Determine the encoded
sequence and transntitted phase seqLrence.

b) Explain about DPSK systenr. And also give the comparison between DpSK anct pSK.

[s+51

6'a) what is the need of pLrlse shaping tbr optrnrlur trAnsrnission in baseband transmission?
Explain.

b) Wlrat is meant b,1' Cross tall<'/ Explain in cletail about the causes for cross talk. [-5+5]
OR

7 ?) Briefly explain abour Variable length coding.
b) Explain in detail abt,ut IJLrtt}ra1 coding ancl-l_ossy sourcc c,ilc,

Note: TItis qucstion paper-corrtains two parl.s A and B.
Pa|t A is cornpulsory wllich carries 25 marks. Answer all questions in piir-t A. part Bconsists of 5 Units. Answer any one full question from each unit. Eaclr question carriesl0 nrarks and nray have a. b, c as sub qr_reitions.
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8 a) Wnte short notes on Hantntir-rg cocies.
b) Explain about Et'tot'cletee tiott artd Correction capabilities ol'llanr,i,g cocles. [-5+-5 j

ott
9 a) Explain how P:rr-ity checking can be Lrsed lbr error cletecrion or er-ror co.-ection.tr) For a linear block cocie. prove ivith exarnple that.

i) rne Syndlorne c'lepends only on error pattern anci not on transnrittecj cscle word?
iir All et'l'.lt'p;.tttct'ns tltlrt dil'l'cr b5'ir c,der,rtrrd lravc rhe :arrre ,y,rJ,:r,n,-:: 

- 
[5+5]

l0'a) Explain the role of cocle diviston multiple access technique in present generation?b) Give a brief history about direct sequence spread specrrum. 15+51
OR

I l,a) Explain about PN-Sequences.ggneration and their characteristics.bt \Vhrt is meant b) Synchronization.' Whl' we require rfn.n,.,r,,irrrion in spr.ead
spectrum? Explain in derail. 

t5+51
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